':D‘ \DE MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Jeld-Wen, Inc.

31725 Highway 97 North

Chiloquin, OR 97624

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: The Jeld-Wen Series “Alum Clad” — Outswing Wood French Doors

APPROVAL DOCUMENT: Drawing No. JWC0032, titled “Aluminum Clad Wood Outswing French Door”
Sheets 1 through 6 of 6, prepared by manufacture dated 06/21/06 and last revised on 09-20-2006, signed and
sealed by L. Roberto Lomas, P.E., bearing the Miami-Dade County Product Control Revision stamp with the
Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved"”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 03-0224.06 and, consists of this page 1 and evidence pages E-1, as well as approval
document mentioned above.
The submitted documentation was reviewed by Ishaq I. Chanda, P. E.

NOA No 06-0719.06

Expiration Date: February 11, 2007
Approval Date: October 12, 2006
Page 1




Jeld-Wen, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS (transferred from files # 03-0224.06)
1. Manufacturer’s die drawings and sections.
2. Drawing No. JWC0032, titled “Aluminum Clad Wood Outswing French Door”
Sheets 1 through 6 of 6, prepared by manufacture dated 06/21/06 and last revised on
09-20-2006, signed and sealed by L. Roberto Lomas, P.E.

B. TESTS (transferred from files # 03-0224.06)

1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94

2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94

3) Water Resistance Test, per FBC, TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC 2411 3.2.1 (b) and TAS 202-94
Along with marked-up drawings and installation diagram of outswing wood French doors,
prepared by Architectural Testing Lab, Test Report No. 61976.01-301-18 dated 03-24-06,
signed and sealed by Joseph A. Reed, P.E and 03-31369.01 dated 03-15-02 & 03-31369.02
dated July 22,2000, signed and sealed by Steven M. Urich, P.E

C. CALCULATIONS (transferred from files # 03-0224.06)
1. Anchor verification calculations complying w/ FBC 2004, dated 9/12/06 and last
revised on 09-14-06, prepared, signed & sealed by L. Roberto Lomas, P.E.
2. Anchor Calculations, dated 4/1/03, prepared by R.W. Building Consultants, Inc.,
signed and sealed by Lyndon Schmidt, P.E. (transferred from files # 03-0224.06)

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-1204.01 issued to E. I. DuPont De Nemours for their
“Sentry Glas Plus” expiring on 01/14/2007

F. STATEMENTS (transferred from files # 03-0224.06)

1. Statement letter of conformance & no financial interest, dated 07/13/06, signed by L.
Roberto Lomas, P.E.
2. Statement letter of conformance & no financial interest, dated 1/30/03, signed by

Lyndon Schmidt P.E. (transferred from files # 03-0224.06)

G. OTHER
1. Notice of Acceptance No. 03-0224.06 (# 01-1224.06), issued to Pozzi Window
Company for Aluminum Clad Wood Outswing Door, expiring on 2/11/07.
2. Letter of acquisition of Pozzi Window by Jeld-Wen Inc., dated July 06, 2006, signed
by David G. Stork (Jeld-Wen Inc.)

\olan |- Lhands
Ishaq L. Chanda, P. E.
Product Control Examiner
NOA No 05-0830.19
Expiration Date: February 11, 2007
Approval Date: October 12, 2006




.75 3/167 MAX. O.SM. o SEE SHEET 4 DETAIL
26 5/8 "A” FOR TYP. FRAME
MAX. D.L.O. {3-PT. LoCK /CORNER DETAIL
@) ADWSTABLE HINGE
Z N =
/ I N\ 24"
NACTIVE | actveN | |t
1/8" 84 3/4"
MAX.  MAX. // 24"
0.SM.  D.LO. ! Ef
Wi /=
ALL PRODUCT ELEVATIONS ARE
\ e " VIEWED FROM THE EXTERIOR.
! 3 10 1/16"
AN 11 V4 ik
MULTI-LOCK W/ . . |
SHOOT BOLTS 75 3/16” x 98 1/8
CLAD OUTSWING FRENCH DOOR
COFRT6080
DESIGN LCAD INFORMATION
FRAME SIZE GLAZING DESCRIPTION GLASS SIZE DP POS. DP NEG.
75 3/16" x 98 1/8" 3/16" ANN. GLASS + .095 SEA STORM 26 5/8" x 84 3/4” 60 62
CARDINAL SGP + 3/16” ANN. GLASS

GENERAL NOTES

. THIS PRODUCT IS DESIGNED TO MEET THE 2004 FLORIDA
BUILDING CODE INCLUDING HVHZ. INSTALLATION OF THIS
PRODUCT OUTSIDE THE "HVHZ" SHALL MEET THE
APPLICABLE CODE REQUIREMENTS FOR WINDBORNE
DEBRIS REQUIREMENTS.

. THIS PRODUCT IS RATED FOR LARGE MISSILE IMPACT.
SHUTTERS ARE NOT REQUIRED.

. PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS
PER DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL
SHALL BE BEYOND WALL DRESSING OR STUCCO.
ANCHORING OR LOADING CONDITIONS NOT SHOWN IN
THESE DETAILS ARE NOT A PART OF THIS APPROVAL.

. WOOD BUCKS BY OTHERS MUST BE ANCHORED PROPERLY
TO TRANSFER LOADS TO THE STRUCTURE.

. THESE DOOR SYSTEMS HAVE BEEN TESTED AND APPROVED
FOR DESIGN PRESSURES NOT TO EXCEED THOSE IN THE
DESIGN LOAD INFORMATION CHART SHOWN ON SHEET 3
OF THESE DRAWINGS.

NOTE:

ELEVATIONS SHOWN ON THIS PAGE WITH 2X BUCKING AND
WITHOUT LOCATING FLANGES. FOR OPTIONAL LOCATING FLANGES,
W/ DIRECT MOUNT SCREWS, SEE SHEETS 2 & 3.

INSTALLATION _NOTES

FASTENERS AT HEAD
THROUGH STRIKE PLATE

6" 0.C. TYP.

@ HEAD &

16" 0.C. |

TYP.

SILL

TYP. P.T. BUCK
BY OTHERS

— ~— 9" TYP. @ HEAD & SILL

-+ 6" TYP. @ HEAD & SILL
-+ = 3" TYP. @ HEAD & SILL

H 13 1/2"7 0.C. TYP. @ HEAD & SILL

I}

“%g =
:

FASTENERS AT SILL
THROUGH STRIKE PLATE

1. SHIM AS REQUIRED AT EACH SET OF INSTALLATION ANCHORS.

MAXIMUM ALLOWABLE SHIM SPACE TO BE 1/4".
WHERE SPACE OF 1/16" OR GREATER OCCURS.
2. FOR ANCHORING INTO CONCRETE OR MASONRY USE 1/47
DIAMETER ELCO TAPCON WITH SUFFICIENT LENGTH TO
ACHIEVE A 1 1/4” MINIMUM EMBEDMENT WITH A 2 1/47

MINIMUM EDGE DISTANCE.

o

FOR ANCHORING INTO WOOD FRAMING USE #10 WOOD SCREW
WITH SUFFICIENT LENGTH TO ACHIEVE A 1
EMBEDMENT.

4. LOCATE ANCHORS AT HEAD & SILL 6" FROM EACH CORNER,

SHIM

1/2” MINIMUM

75 3/16

''x 98 1/8”

CLAD OUTSWING FRENCH DOOR
COFRT6080

, 67 0.C.

TYP. j

OPTIONAL NAILING FIN
SEE INSTALLATION NOTE

#6 ON THIS SHEET

TABLE OF CONTENTS

SHEET #

DESCRIPTION

L

ELEVATION, GENERAL NOTES & ANCHORING LOCATIONS

VERTICAL SECTIONS

HORIZONTAL SECTION & GLASS DETAILS

FRAME CORNER FASTENER DETAILS

COMPONENT DETAILS AND BOM

(2R RGN RONE N

HARDWARE FASTENING DETAILS

13 1/27 0.C. & (6) ANCHORS 3" APART AT ASTRAGAL.
5. LOCATE ANCHORS AT JAMBS 8” FROM EACH CORNER AND

16" MAXIMUM ON CENTER THEREAFTER.

6. #8 X 1 5/8” ROOFING NAILS USED W/ OPT. NAIL FINS &
DRIP CAP ARE NOT REQ'D. FOR USE AS AN INSTALLATION

ANCHOR.

(T 1S SOLELY USED AS A LOCATOR.

B CHANGES PER M-D LETTER ON 08/27/2006

oo,/04 /08

A Changed customers oddress

07/11/06

SYM

DATE

L. Roberto Lomas
P.E. No. 62514

St A

4 »4’ o4
PTC, LLC

1535 Cogswell Street, suite C25
Rockledga, Florida
FBPE Certificote of Authorization NO. 25935

32955

JELD-WEN WINDOWS AND DOORS
BEND _WINDOW DIVISION; 62845 BOYD RD.; BEND, OR 97708

TE - ALUMINUM CLAD WOOD OUTSWING FRENCH DOOCR

V ol 4

PTC, LLC

&

DRN:

ELEVATION, ANCHORING DETAILS AND NOTES

PREPARED BY:

Phone 321.690.1788

Fax 321.690.1789

DRL 06/21,/06
SCALE: DWG. NO:

N.T.S. JWCO0D32
REV: SHEET:

B 1 OF 6




2X BUCK BY OTHERS
(TO BE ENGINEERED SEPARATELY)
2X BUCK BY OTHERS

(TO BE ENGINEERED a 59
SEPARATELY) 4 < 9 9
4 4
< a4 2 4
<1 ;) * q A <7 AL

RN A
R ] /@ 1.50" MIN A0 /@
J — EMBED. 10 BE USED W/ DIRECT MOUNT SCREWS o - 1.50 MIN. EMB.
@\ & o ‘ (SEE INSTALLATION NOTE #6, SHEET 1) i | i

\ T X” 1/4" max. | ’
- , SHIM SPACE T 1/4” MAX. j
9 \@ 3 \@ SHIM SPACE
L L]
S 59 3
8 %) ®
—— FRAME
] SIZE
0.S.M. M\.
i p | INTERIOR
EXTERIOR I|I @
98 1/8" 96” @
FRAVE  PANEL .
SIZE qpp CATERIOR P (EVERTICAL SECTION TYP. (2X_BUCK)
= \Z/OPTIONAL DRIPCAP
e
(9 J——
1 (9
— ®
~_ | (8 Q-LON TO BE SEALED BY SILICONE AT ASTRAGAL NOTE:
TOP RAIL AND BOTTOM RAIL ARE COMPOSED OF SOLID
& o WESTERN PINE VENEER LAMINATED TO A KILN DRIED
EDGE~AND—END GLUED CORE. LOCK AND HINGE STILES SHALL
g %) BE SOLID WESTERN PINE VENEER LAMINATED TO A
TIMBERSTRAND @ CORE. STILES AND RAILS ARE 1.71875”
T THICK. TOP RAILS AND STILES ARE 4.625" WIDE. BOTTOM
[ \ l RAILS ARE 6.625” (168MM) WIDE. THE OPTIONAL BOTTOM RAIL
= _ - IS 10.25" (260MM) WIDE. CLAD ALUMINUM ROLLFORM
7 T g ||Y f SURFACE IS .024” WALL THICKNESS,
6 N “ a 1.25" MIN.
3 EMBED. . Roderto Lomos JELD—WEN WINDOWS AND DOORS
.C. O.
D i BEND WINDOW DIVISION; 62845 BOYD RD.. BEND, OR 97708
v v TE  ALUMINUM CLAD WOOD OUTSWING FRENCH DOOR

VERTICAL CROSS SECTIONS

Lo e
ps »jy ﬁ

(ANVERTICAL SECTION TYP. (2X BUCK)
\2/ PREPARED BY: BRI ORL DATE: 06,21 /06
B |CHANGES PER M-D LETTER ON 08/27/2008 03,/04,/06] HFN PTC. LLC r_'.l - TR SN
A |CHANGED CUSTOMER ADDRESS 07/11,/06] DRL 1535 Cogswell étree{, suite C25 PTC. LLC N.T.S. JWCO032
Rockledge, Florida 32955 . REV: SHEET:
SYM REVISICN DATE 1 BY Phone 321.690.1788  Fox 321.690.1789 B 2 OF 6

FBPE Certificate of Authorization NMO. 25935



WL ﬁ%

EXTERIOR ©Q
1/2” GLASS BITE

IMPACT RESISTANT GIAZING DETAIL

OVERALL 0.47" CARD!NAL® LAMINATED GLASS CONSIST OF 3/16" ANN + .095 CARDINAL SEA STORM + 3/16" ANN GLASS

1.50 MIN. EMB. —=—u

Q-LON TO BE SEALED BY SILICONE AT ASTRAGAL

20) 61) | G6

INTERIOR

ACTIVE

[a———1.50 MIN. EMB.
> » 37 1/16”
AN
2X BUCK BY OTHERS
] 39
AN
N 2 59
[ —
INACTIVE @
L AL N
H*/_ = =
) S =T m)
N - == -
> % \\\ El 3
. a @
57
1/4”7 MAX. -
SHIM SPACE EXTERIOR (OUTSWING DOORS)

37

~— 35 7/8”

E <
4
2
11 i
<
A
o9
4
i \ />
A’/zx BUCK BY OTHERS
-7 4
< = q
45 S—J 8)l 4

75 3/16" MAX FRAME

(B \HORIZONTAL SECTION TYP.
\3/

P.E.

ya

B CHANGES PER M~D LETTER ON 08/27/2008 08/04,/06f HFN

A [ CHANGED CUSTOMERS ADDRESS
SYM REVISION DATE |BY

07/11,/086] DRL

L. Roberto Lomas

.
2

No. 62514

-
74k

PTC, LLC

1535 Cogswell Street, suite €25
Rockledge, Fiorida 32955
FBPE Certificate of Authorization NO. 25935

-

TO BE USED W/ DIRECT MOUNT SCREWS

- 1/47 MAX. PROBUCT REVISED
SHIM SPACE s conyplying with fhe Plorks
Baidihg Code
Accoptaace No Qg-zz_z,_/ -gC
Expiration Date_F£22 /[, 200 7~

JELD—=WEN WINDOWS AND DOORS

BEND_WINDOW DIVISION; 62845 BOYD RD.; BEND, OR 97708
TME - ALUMINUM CLAD WOOD OUTSWING FRENCH DOOR

HORIZONTAL CROSS SECTIONS

PREPARED BY: DRN: DATE:
AN SN A DRL 06/21,/06
r ' . SCALE: DWC. NO:
N.T.S. JWC0032

PTC. LG REV: SHEET
Phone 321.690.1788 Fax 321.690,1789 B

5 OF 6




HEAD JAMB

QUTSWING DOOR CONSTRUCTION

N
i rr FRAME CONSTRUCTION:
THE WOOD FRAME IS 4.3125” x 1.4375” PONDEROSA PINE. THE
: b % FRAME METAL IS 2.26091" x .921875" x .060" WALL EXTRUDED

ALUMINUM. THE FRAME METAL IS SNAPPED ONTO THE WOOD JAMB
WITH A LAP JOINT AT THE HEAD CORNERS AND SEALED WITH SILICONE

(1199 DOw CORNING). EACH HEAD CORNER IS FASTENED WITH (3)
N #8 x 2" FLT. HD. PHL. SCREWS. AN ADDITIONAL #8 x 1" FLT. HD.
T @ PHL. SCREW IS APPLIED INTO THE SCREW BOSS OF THE ALUMINUM
EXTRUSION AND A CORNER KEY .125” «x 11/327 INTO THE SLOT
OF THE ALUMINUM EXTRUSION TO COMPLETE THE CORNER. THE SILL
_ | SIDE JAMB IS ATTACHED THROUGH THE SIDE JAMB INTO THE SILL BASE WITH (3)
#8 x 2" FLT. HD. PHL. SCREWS. AN ADDITIONAL #8 x 1" FLT. HD.
PHL. SCREW IS APPLIED UP THROUGH THE SILL METAL INTO THE SCREW
BOSE OF THE ALUMINUM SIDE JAMB EXTRUSION TO COMPLETE THE
INSTALLATION.

AP N )

N ‘ \
SILL @\
DETAIL "A”

FRAME CORNER FASTENER DETAIL

RODUCT REVISED
25 conplying with the Florids

Baidihg Ged;‘ oC

QW,M. Dats FE 7
\ A A~

m bl Cloger

Divisios

JELD—WEN WINDOWS AND DOORS

BEND _WINDOW DIVISION; 62845 BOYD RD.; BEND, OR 97708
TE - ALUMINUM CLAD WOOD OUTSWING FRENCH DOOR

L. Roberto Lomas
P.E. No. 62514

R

/ DOOR_CONSTRUCTION DETAIL
foﬁ/ﬂg PREPARED BY: DR DRL DATES 06/21,/06
B |CHANGES PER M~D LETTER ON 08/27,/2006 03 /04,/08) HFN 5TC. LLC r— '—- SCAT BTERRYE
. LL -” : - NC:
A |CHANGED CUSTOMERS AODRESS 07,/11/08f DRL 1535 Cogswell Street, suite 25 PIC, LLC N.T.S, JWC0032
SYM REVISION DATE | BY Rockiedge, Florida 32955 . REV: SHEET:
FBPE Certificate of Authorization NO. 25935 Phone 321.680.1788  Fox 321.690.1789 B 4 OF 6




MATERIAL LIST »
, { 1 5/16
[TEM[PART # DESCRIPTION MATERIAL ; oA E—
1 | SPD—161 | ALUMINUM FRAME CLADDING — .00 WALL 6063-T5 ALUM. E‘:ﬁ?ﬁ 15/16" “*‘T @ 13/16" T
2 | SPD-159 | WOOD SIDE JAMB - (BMC) WESTERN PINE 1 ., .
3 | SPD~164 | WOOD HEAD JAMB — (BMC) WESTERN PINE 1 7/186 15/16
4 | SPD~329 | woOD GLASS STOP — (BMC) WESTERN PINE 2 1/4" ___i l 5/8" ‘
5 | aC-74 FRAME CORNER KEY - 2 EA. (MITCHELL METALS) WESTERN PINE
N wWOOD JAMB (HEAD/SIDE GLASS STOP ) » ]__ ,1 L_ ”
6 N/A IMPACT RESISTANT LAMINATED GLASS — (CARDINAL CORP.) SEE SHEET 3 @JAMB CLADDING @ ( ) @“,_.,___. CORNER KEY 5/16" —= 1/8
7 N/A PRESSURE TREATED 2X BUCK P.T. WOCD (:)
3 N/A NOT USED N "
‘ 4 5/8" = e OPTIONAL BOTTOM RAIL (10.25) —nl 4 5/8
g N/A NOT USED .
10 | SPD-224 | WOOD TOP RAIL — (BMC) WESTERN PINE 1 6 9/16 .
11 N/A 1/4" FRAME SHIM WOOD L\__\ A T
12 | SPD-226 | WOOD 10 1/4" BOTTOM RAIL — (BMC) (OPTIONAL) WESTERN PINE | 3/4" K 1 3/4 AN 1 3/4"
13 | SPD=302 | 10 1/4" BOTTOM RAIL CLADDING — (HOMESHIELD) (OPTIONAL) ALUMINUM ]
14 | SPD-225 | WOOD BOTTOM RAIL — (BMC) WESTERN PINE . L
15 | SPD-228 | WOOD LOCK STILE — (BMC) WESTERN PINE
16 | SPD-228 | WOOD HINGE STILE — (BMC) WESTERN PINE . TOP RAIL ~ BOTTOM RAIL @LOCK/H'NGE STILE
17 | SPD-300 | TOP RAIL CLADDING — (HOMESHIELD) ALUMINUM %
18 | SPD~301 | BOTTOM RAIL CLADDING — (HOMESHIELD) ALUMINUM 2 1/8"
1¢ | SPD-304 | STILE CLADDING — (HOMESHIELD) ALUMINUM 4 9/1 6" OPTIONAL BOTTOM RAIL (10'25) "
20 | SPD-232 | WOOD ASTRAGAL — (JELD—WEN MILLWORK) WESTERN PINE 6 9/16" 13/16
21 | SPD-162 | ASTRAGAL MULLION CAP — (SAPA) ALUMINUM ‘ ‘ /2" U 7/8"
22 | sPD—321 | INACTIVE ASTRAGAL COVER — (SAPA) ALUMINUM 7/16 [ J 7/1 6;[ J T————
23 | SPD-320 | ACTIVE ASTRAGAL COVER — (SAPA) ALUMINUM T f
24 | SPD-306 | OUTSWING SILL METAL — (SAPA) ALUMINUM /i TOP _RAIL/STILE CLADDING /i BOTTOM RAIL CLADDING X ASTRAGAL MULLION CAP
TS 18 DOOR SWEEP
g/ &/
25 | SPD-212 | SILL CAP — {(CONNOLY) OAK
26 | SPD-213 | SILL BASE ~ (CONNOLY) 0AK —’“_T‘
27 | HLS=9000 | INACTIVE MULTI~POINT HARDWARE — (HOPPE) STAINLESS STEEL = -1 7/16 13/18" 15/16" ’— T3/ 7/16" %::
28 | HLS—9000 | ACTIVE MULTI~PQINT HARDWARE — (HOPPE) STAINLESS STEEL 9/16" B CQ} ‘
29 N/A NOT USED b " gﬁ ___L ’
4 T bj:? 9/16 5/8
30 N/A INACTIVE HANDLE SET & ESCUTCHEON PLATE — (HOPPE) COATED STEEL 5 11/16" —T 1 3/4"
3t N/A ROUNDBOLT STRIKE PLATE — (HOPPE) COATED STEEL
_ — A V ACTIVE ASTRAGAL VER QUTSWING SILL METAL SiLL CAP
32 N/A DUAL STRIKE AND DEADBOLT PLATE — (HOPPE) COATED STEEL @WACT‘VE STRAGAL COVER @ CTIVE ASTRAGAL CO 2 @_____——— @OPTIONAL NAILFIN
33 N/A HEAD JAMB SHOOTBOLT STRIKE PLATE — (MOPPE) STAINLESS STEEL
34 N/A SILL SHOOTBOLT STRIKE PLATE — (HOPPE) STAINLESS STEEL )
35 N/A | NOT USED ' 4 1/8 2 5/8"
36 N/A Q-LON 650 WEATHERSTRIP SEALED W/ SILICONE — (SCHLEGEL) POLY "
J \ f \ \ 11/16
37 N/A ARLOC WEATHERSTRIP BULB — (INTEK) POLY R A I
38 N/A DOOR SWEEP — (ENDURA) POLY 2 1/16 1 1/16” 6“"1/2” i PRODUCT REVISED
39 N/A 3/8" x 1/8" VHB TAPE 3M Z QTW g9/16" a8 complying with e
40 N/A | NOT USED ’ \ \ \ —t 1/4" _,& l___ —*‘T o 20F.6C
41 N/A ITEM USED BUT NOT SHOWN BRASS > : 7
42 | N/A | TEM USED BUT NOT STOTR L WOOD ASTRAGAL SILL BASE WEATHERSTRIP WEATHERSTRIP
43 N/A SILL SHOOTBOLT GROMMET ~ (BRANDT) POLY @ -“——‘“—
44 N/A 1/2" x 4" DOWEL (CHICAGO DOWEL) WOOD
45 N/A 4” ADJUSTABLE HINGE (SIMONSWERK) COATED STEEL
- 1 1)2"
48 N/A ITEM USED BUT NOT SHOWN STEEL
47 N/A ITEM USED BUT NOT SHOWN L. Roberto Lomas JELD—WEN WINDOWS AND DOORS
—r .E. No. 62514
48 N/A ACTIVE HANDLE SET & ESCUTCHEON PLATE (HOPPE) COATED STEEL / ' BEND WINDOW DIVISION; 62845 BOYD RD.; BEND, OR 97708
49 N/A THUMBTURN (HOPPE) COATED STEEL ] 7/8" /7 4 “ PP TILE:  ALUMINUM CLAD WOQCD QUTSWING FRENCH DOOR
50 N/A #1199 SEALANT (DOW CORNING) SEALANT ‘ f COMPONENTS AND BOM
51 N/A 1" x 7/32" CROWN 18 GA, STAPLE, 6" O.C. STEEL 9/9@%4 PREPARED BY: DRN: DRL DATE: 06/21/06
y Yy S
52 N/A #8 x 3" PH.F.H. MTL S/STL SCREW STEEL B CHANGES FER M~D LETTER ON 08/27/2008 09/04/06i HFN ECALE: DWG. ND:
PTC, LLC r
53 N/A #8 x 2" PHF.H. MTL. SCREW (HOPPE) COATED STEEL OPTIONAL DRIPCAP A | CHANGED CUSTOMERS ADDRESS b7,/11 /08| DAL 1535 Cogswell Street, suite C25 PTC'LLCL - N.T.S. —_— JWC0032
@ ST™ REVISION DATE |BY R rgpe ESE:&?S U itfzr:giozm;jnz%g? 25935 | e srov0. 788 ror szioworres | B 5 OF 6




' 3/16”——”—» *' 1 1/2" f=
NOTE: .
PANELS ARE CONSTRUCTED OF HINGE STILES (4.625 ‘ —~| =7/16 3 3/4 —
x 1.71875), LOCK STILES (4.625 x 1.71875), TOP RAIL T::!:% i[_[«“»ﬁ 1/8” — f
(4.625 x 1.71875), AND STANDARD BOTTOM RAIL (6.625 ° 1/8" O C O |y L4 .,
x 1.71875), OPTIONAL BOTTOM RAIL (10.25 x 1.71875). e © 1.9/16
DOWELS ARE COATED WITH A WATER ACTIVATED ADHESIVE 3/8 © | ‘
AND WATER IS APPLIED TO THE DOWELS PRIOR TO g
INSERTION INTO THE DOWEL HOLES. (SEE DETAIL "C") 4 .
THE ASTRAGAL IS APPLIED TO THE INACTIVE STILE AFTER © --5/16 @S'LL STRIKE PLATE
THE INACTIVE HARDWARE IS INSTALLED INTO THE INACTIVE !
STILE. N v
i —elle1 /16" l‘— 3/4
N
e T CI0) e
3/8” —F7/8 l
4
5/8" HEAD STRIKE PLATE
I e Ho - &)
ﬁ( 8 13/16" ©
113/16" ( )
P 1 7/16"
1 3/4”
4 ~ — 7/16" l L [ vem— Y
1/1 6]
13/16" o 3
0 e
@}DUAL STRIKE PLATE - :1 3/8" 5 13/16
J 1/4”
___[ 13/16°
ttfff - ACTIVE HARDWARE INACTIVE HARDWARE
DETAIL "C” Ve j N @28~ @7
PANEL DOWELING SET—UP @,
INACTIVE STILE HARDWARE DETAIL | =t 3/47 4" (37ROUNDEOLT STRIKE
@ = - Tt
/ © © \ _ PRODUCT REVISED
B © 11/16" as complying with the Florida
—G) | BuldibgCode -/ 7¢
- @ f B ion Dot 22 L], 207
4 38" e 5 Expirstion Dote
MATERIAL LIST (Cont.) = SILL GROMMET ~(3 4 ‘ la Jc\
TEM[PART # DESCRIPTION MATERIAL © e Minad Dot
54 N/A #8 x 2" P.HF.H. WOOD SCREW STEEL H S Bivision
55 N/A #8 x 1" P.H.F.H. WOOD SCREW COLOR MATCH STL, @ @
56 N/A #8 x 1" P.HF.H. S/STL (ITEM USED BUT NOT SHOWN) STEEL K @
57 N/A #8 x 3/4” P.H.F.H. WOOD SCREW CQATED STEEL L Roberto LOVT]GS J ELD__WEN W'NDOWS AND DOORS
58 N/A #8 x 2 1/4" P.HF.H. WOOD SCREW (ITEM USED BUT NOT SHOWN) COATED STEEL PE NO. 625‘] 4
59 N/A | #10 % 3" P.HFH. WOOD SCREW STEEL INGE BEND WINDOW DIVISION; 62845 BOYD RD.; BEND, OR 97708
((HADIUSTABLE HING ) y
B0 | N/A | 1/4" ELCO TAPCON ANCHOR W/ 1 174" EWBED STEEL . /}? 4' TLE: ALUMINUM CLAD WOOD OUTSWING DOOR
61 N/A #8 x 5/8" P.HFH. WOOD SCREW COATED STEEL Zg HARDWARE
62 N/A #8 x 1 1/2" PHF.H. WOOD SCREW COATED STEEL ?,j@é‘ PREPARED BY: DRN: DRL DATE: 06/21/06
63 | AC-172 | DRIPCAP 5063-T5 ALUM, B | CHANGES PER M-D LETTER ON 08/27/2006 s /04 /06| HFN BTC. LLC P'—- SR W
o N/A FOLDING WAILING FLANGE - (AMESBURY) (OPTIONAL) FoLY A | CHANGED CUSTOMERS ADDRESS j07/11,/06] DRL 1535 Cogswell étreet, suite C25 N.T.S. JWC0032
85 | N/A | ITEM USED BUT NOT SHOWN wooD Rockledge, Florida 32955 FTe, 1 REV. SHEET:
85 | N/A | iTEM USED BUT NOT SHown STEEL ST™™ REVISION R R [ g AR CPINNNY e rpsrp——————— B 6 OF 6




